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1. FRAEZAETIZRM A2, v =0.4768x-0.0013  (x JUFRVEMKEE, umol/mL; y A AA).

2. % ) GOT & /it 5

BRI E S B mL MG G B4 Inmol PIERER & SCA— MBS 715047

GOT (nmol/min/mL) = (AA+0.0013) +0.4768+Tx103=104.9x (AA+0.0013)

3. Zif. AR FIZEZR GOT & it 5

(1D $ZREARE AR5

FALIE S B mg HAUE AR AL 2E 1 nmol INERER T S — AR /1 AL

GOT (nmol/min/mg prot) =[ (AA+0.0013) +0.4786xV1]+(V1xCpr)=Tx10% =104.9x (AA+0.0013) ~Cpr
TS AN E, U A R BCA & A BE B e R A&

(2)  HLFEARBEE T

BANTIE S B g ALVEE A BRI Inmol TRRRER & XCON— NS 715407

GOT (nmol/min/g #£ ) =[ (AA+0.0013) +0.4768xV1]+(WxV1+V2)+Tx103 =104.9x (AA+0.0013) +W
(3) a4 b B2 i % P 15

BRI RE S B 1 3B B A oy B AL A Inmol ARG 2 SN — AN G I A

GOT (nmol/min/10% cell) =[ (AA+0.0013) +0.4768xV1]+(500xV1+V2)=Tx103 =0.21x (AA+0.0013)

V1 JIANSNAR R FFEEARMRE, 0.02mL; V2: MIARBGEMAEE, 1mL; T: KMBEE], 20min; Cpr: A

FUAE, mg/mL; W: FEARIE, g; 500: 40AREK4NE 240, 500 /55 103 lumol/mL=10% nmol/mL.
1. ArrEHRZZMETEE N 0.01 umol/mL -2 umol/mL.
2. AAZRMEIEEIN: 0.01-2,



